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Question 1

Question Type: MultipleChoice

If after running a session task, it has been determined that the incorrect mapping was run for that session task, which of the following
actions could be attempted?

Options:

A- Edit the session task and from the General tab, choose the correct mapping to reassociate with the session task, then Save and rerun
the process

B- At run time, when the workflow is executed, chose the session task with the correct mapping associated

C- Edit the session task and from the Mapping tab, choose the correct mapping to reassociate with the session ask, then Save and rerun
the process

D- None of the above

Answer:

A

Question 2




Question Type: MultipleChoice

When would a Lookup transformation be classified as active?

Options:

A- When the setting for lookup policy on multiple match is Use Any Value
B- A lookup cannot be an active transformation
C- When the lookup is configured to return multiple rows

D- A lookup is always active

Answer:

C

Question 3

Question Type: MultipleChoice

Using the Properties view of a Session task from the Workflow Monitor, the reason for a session's failure can possibly be determined?



Options:

A-True

B- False

Answer:

Question 4

Question Type: MultipleChoice

Which one of the following transformations may be unconnected In a valid mapping? (choose one)

Options:

A- Lookup, stored procedure, external procedure
B- Lookup, stored procedure, Java

C- Java, lookup, transaction control



D- Transaction control, Java, lookup

Answer:

Question 5

Question Type: MultipleChoice

A user needs to compare mappings across two folders using the comparsion tool in PowerCenter Designer. What does the user account
need in order to successfully complete the comparsion action? (Given that the user account has been granted the ability to use
PowerCenter Designer)

Options:

A- Read permissions on the two folders
B- Read permissions on the two folders as well as have both folders opened
C- Full access (Read, Write and Execute permissions) on both folders

D- Mappings cannot be compared across folders using PowerCenter Designer



Answer:

Question 6

Question Type: MultipleChoice

Given a Union transformation with 2 input groups, which statement is correct and true?

Options:

A- Both input groups must have matching ports. The precision, datatype, and scale must be identical across both input groups.

B- Either input group can have a port that does not match the other input group. The precision, datatype, and scale does not have to be
identical across both input groups.

C- When merging the 2 groups of data together, the Union transformation will remove duplicate rows.

D- The port names in each input group can be named the same.

Answer:

A



Question 7

Question Type: MultipleChoice

When the Transformation Scope is set to All Input, which group of transformations listed below will always cause an upstream
Transaction Control transformation to become ineffective? (choose one)

Options:

A- Filter, Joiner, Rank
B- Union, Filter, Aggregator
C- Rank, Lookup, Aggregator

D- Joiner, Rank, Sorter

Answer:

D

Question 8

Question Type: MultipleChoice




The user creates a mapping by using aggregator transformation. The aggregator transformation receives sorted input from sorted
transformation. What is the dafault partition type for aggregator transformation?

Options:

A- Pass-through
B- Hash auto-keys
C- Not a valid partition points

D- Based on the transformation scope

Answer:

B
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